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Pinnacle3 Pinnacle3 Eclipse Eclipse 1 Eclipse 2
TPS 0.6+1.2 0.1+0.6 -0.4+0.7 -0.5+0.3 -0.5+0.5 -0.2+0.8
SMU 1.5+0.6 1.5+0.5 0.7+0.8 0.0+0.5 -0.3+1.0 0.7+1.0
RAD 1.4+0.6 -0.1+£0.9 1.4+0.7 0.0+0.6 0.0+0.6 0.5+1.0
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3.2 TPS
Eclipse Pinnacle3
[%]
TPS SMU RAD TPS SMU RAD
1 -0.5+0.5 0.0+0.4 0.2+0.7 0.0+0.3 0.9+0.1 0.1+0.9
2 -0.2+0.6 -0.4£1.6 0.1£1.0 1.4+2.0 1.5+0.1 0.2+1.1
3 -0.4+£0.5 -0.1£0.4 0.5+1.2 0.9+0.1 1.0+£0.1 0.6+0.1
4 -0.9+0.2 -0.4+0.5 0.5+0.9 0.5+0.8 1.1+0.3 0.3+0.7
5 -0.5+0.2 1.2+1.0 1.4+0.4 0.7+0.3 2.3+0.4 2.0+1.2
6 -0.4+0.6 0.1+0.4 0.5+0.8 -0.2+0.8 1.4+£0.6 1.1£1.0
7 -0.3+1.0 0.7+0.4 0.5+1.3 -0.3+0.7 2.1+0.4 0.5+1.2
8 -0.4+0.3 -0.1£0.5 -0.1+0.9 0.0+£0.5 1.4+0.4 0.5+1.1
-0.5+-0.5 0.1+0.1 0.5+0.5 0.3+0.3 1.5+1.5 0.7+0.7
3.3 TPS
Eclipse Pinnacle3
[%]
SMU RAD SMU RAD

1 1.3+0.5 1.2+0.4 2.6+0.5 1.4+0.6

2 0.7£1.0 0.0+0.2 2.7+0.3 0.5+0.7

3 0.7+0.4 0.6+3.1 3.2+0.3 0.8+0.2

4 2.7£0.5 3.0+£0.5 2.9+0.4 2.0£0.7

5 4.5+0.8 4.6+0.7 5.5+1.2 4.1+1.6

6 1.7+0.7 1.7+1.0 3.2+1.9 2.5£1.5

7 0.0£0.9 0.0+0.4 1.5+0.9 0.4£1.6

8 1.6+0.2 1.2+0.4 1.2+£2.5 2.3+0.9

1.7+1.5 1.5+1.9 2.8+1.7 1.8+1.6
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4.1

1 2 2 3
] Pinnacle3 Pinnacle3  Eclipse Eclipse
26 28 102 46
64 82 94 43
108 50 60
39 6 20 67
196 4 100 14
103 50 10 74
44 41 31 41
580 261 357 345
4.2 TPS
(o] 1 2 2 3
Pinnacle3 Pinnacle3 Eclipse Eclipse
Simple MU 2.24+2.0 1.8+2.3 1.1+2.1 1.6+1.8 1.7£2.1
RADCALC 1.1+1.8 0.9+3.5 0.3+1.7 1.3+1.7 0.9+2.2
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4.3 TPS
Eclipse Pinnacle?
[%]

SMU RADCALC SMU RADCALC
1.0£1.4 0.8+1.6 2.2+1.7 2.3+2.0
2.6+2.6 1.3+2.1 2.9£2.5 1.5+3.7
4.4+0.7 3.9+1.0 4.3+2.1 3.1£1.9
0.6+1.3 0.2+1.1 0.8+1.4 0.3+0.8
0.0+0.7 -0.4+0.6 1.2+0.8 -0.1+0.8
0.7+0.7 0.3+0.6 1.1+1.0 -0.2+1.8
0.6+1.5 0.2+1.1 0.8+1.6 0.6+0.9
1.3£2.0 0.8+1.8 2.0£2.1 1.0+£2.4
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